The XYZ-Theoremu (I)
Ib.m (shepp 1962) Let the Incomes Xi.-+ An of n
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Thus ([N =<) 5 a lattice. s
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Ji_(oonﬁmued) C,ﬂim'°°_ (INI'=) s a distaibutive lattice.
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%? x<x, [ ) P(Xué?ts’ )< P(vex, x=x ) P(r)
= hs N2 We note that P(%=%)—0 pruided i+, and hence
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l,inea/z Extension

! l_ei' (P=) be q poset™ with n elemento .
A R = P> [n] (s Glled & linean. extension of- P
|\k 'xé? = S(x)=< 6(8,3

g ].n 'H\e Yema.‘m‘na ,o'u‘des/ ‘we Considen +he Pn:baloi’n‘-ta, Apace aﬁ
all ll\vwov\, extengion 06 P, wWhere each ample Pon‘ni" I's ezua”? /a‘):elg,..
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The XYZ- Theorem (T)

Thm 6ul"™ let P be a poset With N elemerls
a\, az,'-", an. Theh

Plasa o asa)2P(a=e) Plaza)

A false Con!'GCthQ s Is P(x.<xz<’<v )< P(x<xe<xy| T Hi<xss,
s T gl ity vt Tt | d
L&T N=6 and r==={ Xz € X < Xg <X3, X.<Xy,}

—ri\et\ we hQU'Q P( X< Xy <Xy ’ ,") =7%—-. /
Howeuw P( Ki< X <X ' r: X<X3< Xv.) - ;—
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